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1. rimmmrsa i ) Wl B o 1. Which is the State capital of Haryana ?
Rl ""W ol (1 Bhawant
2) e (2 Panipal
(2) m \./' 1 Sompat
(4) wdm 4) Chandigarh
(5 Fwa (5)  Not attempted
L mz!i " & fadt &t fiom £ 0 2. Nar Narayana cave is situated in which district
¢ m‘-ﬁu" forar i |3 ) ’ of Haryana 7
- (1) Sonipat
1) W ,‘_j (2)  Yamunanagar
il e (3} Kurukshetra
T (4)  Bhiwani
@ w"", (5)  Not attempted
3. @#@sA ) & s va weam ft i |3 During rainy season, which river becomes the
g =1 mujor cause of floods in  Ambala and
(1) wr=n 4. Kurukshetra districts of the State 7
(2) (1' Hakra River
@) Tah: (2)  Muarkanda River
i il (3)  Rakshi River
4y Tangri River
- e (5  Not attempted
4. i@ i&l’ﬂ 2 i FRM =R ? 4. Which State lies to the South-West of Haryana 7
(1 (1) Rajasthan
(2) 37 12} Uttar Pradesh
(3) 99@ (3)  Punjab
(4) ITmEE (4} Uttarakhand
(5) I A T AR (5) | Not attempted
- e frdr i R0 5. Decnbandhu Chhotu Ram Power Plant is located
K R UETEIRE S ———— in the district of
1y fom (1) Hisar
(2) FTFAM 7 (2) Yamunanagar
(3) faran 3) Sirsa
(4} Panipat
s I 00 oy 12
(5) I A A —— —— JE——
T wrd & fT0 P | SPACE FOR ROUGHWORK ~30
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(mn ﬂuﬂﬁgm.jﬁmmﬂ?

N Mg, -
(2)  Nh G gy
) "SR e s - (o
@) <ft s @
(5) W = (4]
@ FFnm 5
R Ay ‘M T t'_a
daeaging, |8 In
(1)  7gmz e =
(3) wwii w1 2m m
kallE QR 5
@ # @
@ “@
(5) Io & = (5)
B. mEmma dwfmr (9. Wh_ wmmm
(1) wfum of |
(2 Ffum m
(3) TR il
(4) wu gk :::
(5) I T 2
- (5)
g A TR kil &4
(1) frgsii & W
(2) =g 2ot
(3) =i @1 3w (1
(4) TN 37 2
(5)  3m 7 Zr =

10, ﬁw&miammmﬁmwm 18

L X

W*v*ﬁ*‘f%%m&mmn

(1) =i

2) #mg,—
@) A

1) wifeq

6.
Choudhary Chhotu Ram

Choudhary Bansi Lal

(41 Choudhary Bhajan Lal
(5) Not attempted

the Maratha rulers and
(1)  Ahmad Shah Abdali
(2) Babur

(3) Hemu

(4) Mohammad Ghori
(5) Not attempted

(1)  Huoridham

(2)  Krishidham

(3)  Bahudhanyaka
(4)  Jaya Samhita
(5)  Not attempted

of Haryana ?

(1) Infant's shirt
(2)  Shirt

(3)  Children's cap
(4)  Fulkari odhani
(5) Not attempted

at the time of marringe ?
(1) Lahariya

(2) Dimach

(3)  Gumati

(4)  Mandiyn

(6) Not llﬂempted

(5) mqﬂ%;nm
W

T wrd 3 fiy we 1 sPACE FOR ROUGH WORK

Wha is the founder of Bhakra Dam Project 7

Choudhary Ranbir Singh Hoada

The Third Battle of Panipat took place between

B. In the Mahabharata, Haryana has been ealled

9. What is a Phargal/Fargal in the traditional attire

Which of IFIE following is n traditional costume
for women in Haryana, which is given to a bride
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b A a4 qrage siwdefa |1, Which among the following was the Theme State
1) fewraa i 2020 0 sfaa 340§ .
forew sten, whiorrg s s @2 W @Y in the 34" Surajkund International Crafts Mela
= (20200, Faridabad ?
i feraa wim -
() Himachal Pradesh
(2) AR
< (2) Rajasthan
2 fidnes ¥ (3  Uttar Prades)
(.‘) L ttar radesn
R 4y Punjal
(5 Not attempted
12.  w=men 3fin m ifiemp Aw fofm
4)  mh . .z # 12, Where in Harvana is the flying training centre,
e (H M gfarm § fm oo W@ ;
) N “Haryana Institute of Civil Aviation” (HICA) set
57?7 1 Tga |13, up ?
(1)t
) =, fyarf (1) Gurugram
R L (2} Pinjore
(1 B
(1) m (3)  Bhiwani
LR L (4)  Rohtak
5)
Gy I (5)  Not attempted
13. wfamm & fam frm &= @ wau wgd (13, Harvinder Singh, a sportsperson from Haryann,
£2 14, belongs to which sport 7
() 7fém (1) Shooting
(20 feem (2)  Discus Throw
3w (31 Hockey
(4) s ) Archery
5) IM3 13) Not illllnmpled
4. fowm v famn - & wxl feam 4 o 4. Where is the Chinkarg Breeding Center located
(1) =, ' in Haryana ?
(2) dmeh () Morni, Panchkula
3) frmm 2) Pipli, Kurukshetra
(4) &%, farfi (31 llisar
(5) I T = =R 4} Kairu, Bhiwani
= . (5)  Not attempted
15. z&mnﬁaaﬁm'ﬁrﬁmﬁmaﬂﬁﬁam )
b 15. ‘;:'h};ch year \:-n.r. declared as the “Gir) Child Year”
aryana
(1) 2006 (1) 2006
(2) 2014 - (2) 2014
(3) 2016 31 2016
(4) 1994 (4) 1994
(5) I Al T = (5)__Not attempted
—— T —
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16. I WA TR & (JCBC) ) raren wawd b
(1) 2001 fig 3mwe &= (veo & &Y 0 ‘

A AT

16. When was the Jatayu Conservation u"'""“nu

Contre (ICBC), earlier known as the Vultyre

ne Care Contre (vCe), established 7
92
- (1 2001
(2) 2011 i @ 2011
(3) 1977 « 2) (3) 2007
4) 2016 ) (4) 2016
(5) I T 3 “ (5) Not attempted
(5)
0 % . hi e g the number of seats in th
1 @ 6 r ¥ efam dutt ¥ 17. In which year was t e
TETE_90 fargy moA 18. H"1 = " Haryana Vidhan Sabha increased to 90 ?
o e ah (1) 2008
(B Y]
(2) 1966 @ 2) 1966
(3 1977 « @ @ 1977
1 awEEl | i (4) 2001
(5) IMTE = (5) (5) Not attempted
3 - . |18. Haryana State is divided into how many
18. wmafS = F (19, Tha™m T w1 fEAR wmi b
datam g ? ’ of 1 divisions for ndministrative revenue purposes ?
an 3 n :;' ;
)
w e = @ 5
@ 5 v~ (3 - 3
)
4 6 . (5) Not attempted
(5) I T FN
20 As) 19. The Mahabharata war took place in which region
19. wE™RE % gg E &% 3 gan @1 ? of Haryana ?
(1) 8T pop (1) Kurukshetra
(2) rga (1 (20 Panipat
femnt 2) (31  Hisar
. (4) Jhajjar
o " (5) Not attempted
(5) I 7T & =TEd
5 . [20. As per the Census of India 2011, Haryana is the
20. Widrm SR 2011 & AR, wHeen R | okl slals i wtia & .
#framn wad e Y of India in terms of
A b population.
(1) =rFEl | — (1) eighteenth
(2) gzgal (2) fifteenth
(3) vl (3) eleventh
(4) =zmal (4) tenth
(6) 3w T 231 =EA (5) Not attempted
AMRAICAPage 5 T wrd & ferg TuTA | SPACE FOR ROUGH WORK
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. 21, The meaning of the Harvanvi
r‘l‘ﬂﬂi R: kol aryanvi proverh, “Tnw]
@) Farad srh a Fois 7@ @AW | Bawla™ (A7aen & F1a=71) is - padl
(1) ] =i gl ) v T ¥ (a
: 7 ) N ) Selfish people do not care for others,
(2) FAmad s a fdw A E @) s discreti
~ kil & wpeda The hasty person's discretion becomes zerp,
. T‘W I G (3)  Doing an unimportant work in the absence
) l‘ﬂm(." T_ﬁ;ﬂ; (ng o & e 3o of an important work.
o i 2 (4)  Evil spreads faster than good.
3 (3)  Not attempted
T T (47 3 mpyse WA 2018 4
(4) o sfm 9 22, Which of the following sportspersons won (h
e 5 . HE s :
Tl § i { bronze medal in Wrestling in the Commonwealth
() famseg (23 A Games 2018 ?
(3) IAWWAFE L ;\ (1) Vinesh Phogat 27.
(@ =& (1. (2)  Yogeshwar Dutt
® i ﬁ o (3)  Babita Phogat
5) I IF (4)  Geetika Jakhar
@ :
5) .
- - (4 . L. (5)  Not attempted (
23. Among the [lollowir lay fi Hary
- B v+ 4 g g players from Haryana, {
N ;:'F’""'*m A ? who won the gold medal in Tokyo 2020 e
kT “ W Parnlympics ? )
2 wims . (1) Ravi Kumar Dahiya . 28, F
(3) =Ew :;: (2)  Sunita Sharma fo
(4) Tz < (8)  Sakshi Malik He
(5) I (4)  Sumit Antil
(1)
(4) v
24, ¢ Fm ey fen . (5)  Not nttempted
fmis T —_— 24.  Who was the first person to be bestowed with the -
1 =fas K title of the State Poct in Haryang ?
(2) wréqr m (1) Kavi Chand Bardai -
@ T, L (2)  Bhai Parmanand y
(4) o weh T (3)  Uday Bhanu Hans -
(5) e (4)  Shri Khushi Ram Sharma -
) (5)  Not attempted . Choos
25, i @ WU e ‘G ) e fea w9 0 w6 :
o 25. The very first verse of the Gita deseri :mjnn
(n ] ‘Kurukshetra' ns N Histc
3-» 3 et T
o : ks ; )
- o urm shetra (place of righteousness) "
firg Shikshakshetra (place of Jogyns @«
earning)
(4) TuEA (4) Ra
o nkshetra (pluce of battle) M) fu
(5) e Tl N =EA {5) _Not atte th N
7 rsmr Y% wrd & foTY €T | SPACE FOR ROUGH wopmyc MRA/C4/pag,
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26. Choose the correc P B

underlined  part we the |80,  Pick out the correctly spelt word.
part ol the sentence, |f -

g (1) immaculate ="

improvement 1s required, your answer is ()
(21 inmaculate

(4)- N-o-im rov e is interested § .
an easy jlj,f(.‘ ient @ ;:-;r(;;::::‘;’ in having (1 immacculate
PrOT M P (4)  imaculate
@ | of M 2 (i) Not attempted
(2)  for have ar
(3 2 32. Pi
to having th 31. Pick out the wrongly spelt word.
(4)  Noimprov (4] lively (1) preference ¥
(5) Not attem, ga (2) difference >
(1 (1) performence L~
|~ I g j
3 _( He told 'her tI (2yiveup v v o (4) reference x>
He boasted he (3liches. (5) Not attempted
(1) of L/ (41
o (5) 32. Pick out the antonym of the underlined word in
(2)  lacks” (3) toswim“" the following séntence.
(3) about ®l33. Pic I L . . .
E saw her sitting motionless in her chair and
4) at the gazing at the door.
e
Ic (1 lazily -~
(5) Not attemp v
lee (2) bending il

28, Find out the cor (D¢t speech form of the (3) negatively ©

following sentent® (2) . (4)  lively

He said to her, <3 (3) gee the chairman.” (5) Not attempted

(1) He told 1 " he cannot see the
(5) 33.

chairman. ,

(2) He told hc |g4

Pick out the synonym of the underlined word in
the following sentence.

gt could not see the I cannot rest from travel; T will drink life to the

b, He lees.

(3) She was ref (n the chairman. (1) encourage
y He told he. (2)* could not see the (2) giveup "
chairman. (3) accept

(5) Not attempted (4) join
(5) Not attempted

posite in the

29. Choose the word which is op
Fill in the blank with the suitable alternative.

meaning of the underlined word : 4.
“History abounds in instances of courage.” He wanted ——
(1) toswimming
% Lebr 2) swim
2) lacks” :3: e e
@) shines e
i @ failures (5) Not attempted
e ) Naot at ted |
AMRA/C4/p — p—t frawmd/ SPACE FOR ROUGH WORK
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35, In this question, there i Ly
six sentences. The first an i
are given in the beginning ““:_
8y respectively. The middle I it < g
been jumbled up These are labe

S. You

(3) SPRQ o
g

Join TeJegram Group "gradein"

passage consISUNg of \Reud  the following “passage and answer questions
a pas
gixth sentences |38, 99 qnd 40,
od a8 5 an ; g
. -'Ilf .“ If 1 had been asked in my carly youth whether |
b 3 L“; preferred to have dealings only with men or only with
' | books, my answer would certainly have been in favoyr
ol boaks. In later years this has become lwa.ﬁ and less,
< . o ‘e had so much betler expericnces with
B s the l.-x-pon'ence wih nﬂ:ler it books. On the contrary delightful books
beings that nourishes one's life and n

1o find the proper order for

4 ne my way more often than purely
Sg__He S e delightful men. But the many bad experiences with
(1) Anil was teaching Shawna find clean. men have nourished the meadow of my life as the
Q Th T d into the room. noblest hook could not do.
Iy ¥ rees ssmmu i IvauIlE DOOK
R R of 11 (3 even the bad experiences he had with mfne of the following statements best
5. I Were more valuable than what the nohldhe main argument of the passage ?
1 Q¢ ) (1) There are more purely delightful men than
(a RE purely delightful books., =
m c vy SE (1) Vast and rich life (2) 1t is the experience with other human
4) P beings that nourishes one's life and not
(5) N necessarily books,
(3)  Neither men nor books give any worthwhile
36. (;!lwose active voice form of the experience.
= Imrml an 4)  Books are always better than meni®”
Sharan ) ught by Anil. (5)  Not attempted
(n ing Sharan, L—
2) A 1 Sharan 39 The author says that in later years his love of
- g books diminished hecause
@ Ar t Sharan, . ;
4) st ok 1) he had better experiences with men than
ing Anil. with books, 29>
e 4 12) he had given up the habit of reading books,
37. Pick ou f the sentence which has an (3)  even the bad experiences he had with men
error. I EITOr, your answer is (4). Were more valuable than what the noblest
Sememw L gen, books could give.
_—_“A“-" ' he did not get many delightful books ta
some achieve greatness ang read.
——_B“—\m- (5)  Not attempted
some had greatness ), 40.  Which oue of the pairs of phrases best helps tq
'—"_JM bring out the metaphorical meaning of (h,
" ‘meadow of my life’ ?
m C a (1) Vast and rich life
2 A (2)  Well-nourished but dull lifs
3 B (3)  Poor but simple life V
(4) Noerror (4)  Pure and healthy life
(5)  Not attempted
(5) Not attempted - S -
1o wd & o v ) space For ROUGH WoRK .
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@l 3 qEm, “drg o 2@ " v
(1 & 3w & qeem @ ¥ 7 - wm fag

2 1l 3 g, “ﬂ'flzl urfl 2 31 1" - g fm

(3 ¥ nEm i e R P
(4) 9EEi @ - v farm
() A SEER S
(@
@ wIw @ mL
i g i g (@ A [
i
(1 wEE s oo
[3)“ tm.gmw 9
(@) THE A @
(4)  AEEE 3 (3/
(5) I A &N 7
5
0. ‘g’ vz fafda 2
M gIwiH g o
@ g Il m
@ gIwdd @
4) g 3T A -
(5) I T & <TEA

W g o2 @ v e = TR |
) g +3=3 " :
(2) M 4+ A = T
@) ¥g + g =91G

. P 0 % i i

legram Group "gradein"
Fiﬁ. g"}u.qvia.' 7] Pm gm‘r I N i p oo

46.

47.

48.

(1 i . fagmm
2y warha fefazrm

o viezen St fasrm

¢ & vz & fom sfaa R @ A s

(4) 57 fwn.faim

(5) 30 A 20 A

Sina 1w A, s g | @ 3fa Sed

wamR?

(1 & vl & fom sfam wam @ g s
g B

(2) 3l 95 T oHEE T I

@) om & aw fard 3

4y e s A feh 3 A FE s

(5) I A¥I A1 =EA

FF-H1 e A TF R 7
(m =R

(2 @

(3 mL~

) 3
(5) W’lﬂ?ﬂm

s e o T A A 7
a @

(20 ;M

(3 dH

@ 2

(5) ﬂ:ﬁﬁhm

CﬂPage 9

M\iiq‘.’/
L GH WORK
(5) m?ﬂ?ﬂm ”PmEFognoUGH
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19, fﬂanmfamﬁgfaﬂm%? mﬂ%r%i

@ fEm (n
) T @ TG
2 ey -
(@ frm
(3 ; i
2) m.m:ﬂh’wmnn"'mﬁmﬂm‘“
. SicH i Aar L AL "ﬂ h m

(5) Iw3 [:’.m*ﬁ-mL
53. ‘e w= & forw afem arwin = v i
(1) \WEHl =1 F=F8 8§ =i

(1) 3
- mﬁ% o (2) AT & T
- (1 F’Nmt?
o @) wmy (@) FENT § wafera momd
4
QLR R LR PO C R ep———
2) =3. 1 (5) m?ﬂhm
@) . afim 7
&
@ ez o wh mﬁmﬁmﬂ'ﬁﬂ’mwﬁmmﬁw
‘ N ATy 2
(5 3IMW3
o (1 Nﬁl%m—mﬁk/
@) 1l ? P wyy _ fan
‘ @ e & < ufy i
51. Jﬂqfi’?a‘_ umwl’m%fﬁﬁ (4) !ﬁ;ﬁ{m ﬁw
E &
T wataE faeim 7= (5) 3Im
o IR T T um
1 am |- o him“———m&mhm
® R 2 5 foe b 1 72 8wl g
(2) sz Ll "
(U iﬁx
3 @ ey _—
(4) g et
4) ey
(5) I T 1wy (B I 38 7w
AMRAICAIPage 10 oty v | SPACE FOR ROUGH worxk T
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HEAN

gl 3 ufkensit € wen
ﬁ;ﬁi‘mﬂm‘@iw

W 6

wowt R | ImsE A o A

3) 45 a
4) 36 @
(5) IW A 2 @
“
’- ﬁﬁ‘l’“’.':‘ (ﬁﬂﬁﬂumav.
SEPARATY ¢ [58. N
(1) PARADEL [
2 TREES yFe |
@ ERASE
 (5) IR
| % “. A . :
g e s iz fn o K : (58
“‘"' ) B 5

] U7 V]
ah

oA}

THOCA'H W Al ow sl we A ufr#r!om 1§J§qram Group

i wwn A g kWA R B W
sl & s 11 you ww i wan @ ¥ ) o

n H>. )
gradein”,

A

number of women is twice of the aumber of men

n a loeal bus w the

In the next station ‘B, 7 women get down gnd
11 men enter the bus. Now the number of men
and women is equal. In the beginning how many

passengers entered that bus ?

(1) b4
(2) 18
3 4b
(4) 36
{5) Not attempted

Find out the word which cannot be formed by
using the letters of the given word.

SEPARATE

PARADE

TREES

TEARS

ERASE

Not attempted

(1)
(2)
(3)
(4)
(5)
Numbers and their letter-codes are given in the
following table :
Number 3 7 8|6 |

Letter-Code| K | E PlL]

You have to find out which option has the correct

2 8
F Y

1. ;wm&mmmupmt
W
et m

-
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i 7 ayaam oz fE 67
60. fr=fafem i @t alam (1) 48:6
@) 42:4 -6 (2) 625:6
2) 625:5
. @ 108:9
(3) 108:!
(4) 42:4
(4) 42:4 d
: (6) Not attempte
.
61. Pointing towards a girl, Ankit said, “This girl is
61, UF wzh = FTH 44 s A R, “am the wife of the grandson of my mother.” [How is
T B % it d " ifEm w1 I wTh Ankit related to the girl ?
LECETHE 62, (1) Father
(n fm - m : (2)  Uncle
@ "‘ m m Pl (3)  Son
3) @ FEE (4)  Father-in-law
@)  wH- () Not attempted
(3) IW=T
62, Three statements are followed by three
- conclusions. Take the statements to be true even
62. 'ﬁ“‘:‘m = i for m & | W if they seem to be at variance from the commonly
Az & fig 3 = v A T g fh known facts. Decide which of the given
wifan fF a7 Ham e faw o i conclusions logically followis) from the given
A fawmaf statements,
Fwd: ® L 7 Staterents : Al rats are cats,
Ly All lions are cats,
L | All deer are lions,
A () aw T fafgai 3 ) & Conclusions: (1) All deer are cats,
I %o fem =»E S (I Some deer are pays.
(D 7o fafigad fom 3 | L7 (M Some cats are dper.
(1) m:mmﬁmg (1) Only I and 111 follow
(2) &aa 1afn g Frmy (2)  Only I and 111 follow
@) &R 1 P 3 - (3)  Only II follows
@) T 1 1) ey (4) Only I and I follow
(6) I TH m Not attempted .
AMRAC4/Page 12 57 3 f7Q T | SPACE FOR ROUGH woRK T
é;
4 " ‘M A

. (¥ scanned with OKEN Scanner
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6. bl W (x) 1 WA a R ? 63.  What is the value of (x) in the series ?
20 TN\ 46, 59, (x), 91, 110, 131 35, 46, 69, (x), 91, 110, 131
(1 64 (1 64
‘(B TaNT 2 74
3 79 p at 3 79
(n 1w sit (4 B84
g e 2:“" (1) (5) Not attempted
(6) IN @
ive ' boy: itti in a row. Ravi is not
3 i . B F“-e i o }:ng lAnil Anubhav is not
¢t W9 TFF 0 dofe ,fa,;mm&ﬁaa: adjncent to Sures or Anil. .
(2) 2@ 1 yY=gaen W qll.f:n/m ™ & adjacent to Suresh. Ravi is adjncent to Mohan.
w : Mohan is in the middle in the row. Anil is sitting
t . *ﬂ'ﬂ“ﬁ 5) g..l g ﬂ -y at the end on the right side. Then Anubhav is
=t 3 (68 YoH &t ) sitling adjacent to whom out of the following ?
Foffan 8 fg | SR b .
ek (1) Ravi
b(‘?ﬂ At X ),
2 123t 561 ) - (2) Mohan
@ wERE .Jﬂ* MW f (3) Suresh
¥ 51 (4) Anil
@ gL @ @) gP 0=
4 a1 . (5) Not attempted
(5) o AE & (3) 65. You are a Finance Minister of any country. There
; =i s is recession in the economy of that country. What
6 am s 2 (A % v best action would you take ?
o uf & | 3 (Bl 33t ? () Try to get money from international
) -sivdeia G g, set T T FA | agencies. -
@ W f ade ’ optz O & fou w=d (2) Implement good financial policies to 5
fasfra <fiferat enhance the economy of the country.
- & ; / f th 'l
(3) Divert the mind of the public to other \
(@) @i w1 = (1) 3 HEA | i
) FWMAY @7 T | (4) Try to borrow money from other countries.
(5) e =l Z0 =TEA (5) Not nttempted
O, Prefufgn wean e F W FA E fre A R o coleet the missing numbers from the given
e 3 & A w1 T i | options that will complete the number series.
2
0,2,6,_7_,20,30,42, 2. 72,90 0.2,6, 2..20,30,42, 7 , 72,90
i e A (1) 18and56
(2' o () 12and 56
( ) 12skasL” (&) 18 and 48
3 183% 48 (4) 12and48
:ﬂ 12 iy 48 (5) Not attempted —
5w i 3 wmed - HWORK
\ OR ROUG! K i
zarr | SPACE FOR T A.J
: . SR A 3 >
sqim = 76411 7 ©F ¢K
17 Y
3 1 .,‘

-7
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(h sfgam - \x-.i oz fifa ) 19- rE:l'l"ll the odd ng- out,
- (1) Lyricist - Song
i1 witasn - ma "
(2} Farmer - Plough
2 fam -
3 Lal or - S
o sl s J (3)  Labourer pade
(4)  Carpenter - Saw
= L |
3 18 }{ ] i (5 Not attempted
gy 5 et w2 2 7 TR Far 68, E__-‘-(-I:-Irl the option lhn:hls relau.:id to lh? third term
. in the same way a.
m m‘“m P m v as the second term is related
the first term.
jmﬁl?ltm 12:72::6:7
m (1) 46
(2)
(2) 28
3 @ 18
(3 4,3, |-5.2.3\/
) (4) 64
5 L5}
(5) Not attempted
69. 3= f i #= w2 | ¢ ;
e R Wﬂm Fafm & 69. Select the option that is related to the third term
| TUARITATH | in the same way as the second term is related to
. :Ppr:? the first term.,
VW p Mma :
s ePe :AMm:: Ppr:?
) (1) RPp
3 (2) Rpr
4) (3) RpP
(5) M ) Prp
L (5)  Not attempted
e P | T i s sgem s @
T, oy aiq R % " i 70. Select the combination of numbers go
DUOP T the letters arranged accordingly wiy) fo
: I M meaningful word : —
2
145 ¢ DUOPI M
(1) 4,3,2,5 i ™
) W ‘
e 16 (1) 4,3,2,5,1,6
2) 6,3, 2,5, 4 2) 6,3,1,2,65,4
@ 431824~ 3) 4,3,1,5,2,6
“4) 4,32 L8 g (4) 4,3,2,1,6,5
(5) e Al % e (6)  Not attempted
AMRA/CA/Page 14 v wird % fry ¥4TA 1 SPACE FOR ROUGH WORK .
P O V) J L)) M ' . '
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t in the name of the seftware that is used for
’

. 7. Wh
T AW U F fam e e
(&} vz o T 4 maintenance and configuration of Computer
1y a4tE T aiezagy Systoms ?
i2)  Feamy grgm (1) General Purpose Software
- ! ) -
(1) 3 A ifem 7 & wmad ey (2)  Device Driver
) AT far comr (3) System Utilitics "/
beca ingr Syste
(5) I A B (41 Operating Sysiem
Lar (5) Not attempted
2)
= w7 &fEm
U Hd dﬂ (h[ﬂﬁ) t m 72. Virtual keyboards or Online keyboards are
m e i w2 FEH @t commonly provided by Internet banking websites
(1) 7 TETTEA i @ ymad foms A
. (5) because
oo
% J (17 they allow users to ty nsswords securely
@ & e 1 abh e
" i (2) they are faster than physical keyboards
@) @ g s |13 Whid
corre (3) they can easily fit on small sereens
4) & wamal & 3 J
(1 (4) they are convenient to the user
(5 IMm
o (5) Not attempted
2)
R b iy & T
i 33 ¥ 3) 73. Which one of the following statement is nof
ot correct about Blockchain technalogy ?
1
) W o i o s v, (R v ESCF (1) Each block has some data called its header,
T 8, 3t ar 3= W e @ B 2k RSNy
U e UFHd 734 (ﬁm/mﬁ'ﬁ) & o fiad (2) It is possible for a single member of the
¥ a1 § wgena w6 B network to make changes or alter data.
W"‘W wnht f wits % A /A T (3) Oaly the owner has access to the private
e v d o dnta of the block.
I
Y ﬁhmqwmmﬁmtl (4) A block can be a secured chunk of data.
5 (5) Notattempted
et 2wt -2 ——
SPACE FOR ROUGH WORK

ims 1w % fg )
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fawn-arq (dm) |74 What is the the ;
. ) o 2022 #l 15 the theme of Wirlg g ) )
i 4 f WO A WS year 2022 7 ebitat Day for thy
i SR L oH (1) “Mind The G
I . il W S % At ne e Gap : Leave N One
(1) “ym @ @A wW:d f Behind® @ Hne and Plag
a3 g o (2)  “Inclusive D
enEn " oive Jevelopment, Sustaj
@ “ami 7 faamd Development! .
g g A L3 “Clean Habitat, He y itat”
@ e g . Healthy Habitat
PP { fawm L) “Inclusive Development For Al
(5 T () Not attempted
g,\/m m-ﬁ!ﬁmﬁ Yt e B :F !Eﬁh H ®H | 76. T:ho enforcement of which of the following
T ffa 7 @ wwr #: et Fundamental Rights cannot be suspended wher,
g - a Proclamation of Emergency (Article 352) is in
o - operation ?
_— (1) Right to Equality
" ‘ (2)  Right to Freed igi
e [ reedom of Religion
@ el (3 Righ iberti
g L : ight to Personal Liberties
(5) Tm3 (4)  Right to Freedom of Expression
(5)  Not attempted
76. S e % o
—— e ¢ o 76. What is a reserved constituency ?
b ; m. awrd‘m #f @ 1 A conslituency in which only those politica
m“.lﬁl TE T g™ AL 2| Dlltrtles claiming to represent  reserved
categories ean contest elections,
2w o e o R s (2) A constituency in which only members of 1
?m R ¥ T@% 7 Hwa wi | :lec(i:::r reserved category can stand fur
(3) wm . . ' X
fwzi-.a fam st ufafifeea & 3} A constituency in which elections are hel
: RO S g A A following the principles of Proporti
4) :Wl o @ i T v representation. -
317 S 2 o e 4) A itue i rhi
e i F i R E | constituency in which the vater |is
(©) 3w A 3 - consists only of the memberg of a part;
reserved category. Particuls
77. famdy faensg i i 5 g % AW T (5)  Not attempted
ferat gm forn ;
. s fifirr 3 =q # d@6f@ fan |77, Whose teachings  and Speeches
i posthumously written and compi] b o
AT vt followers in the form nfT‘ripn_aku.,pl ed by hi
2) = (1) Mahavir
@ v 2) abir
@ Tz (3) Shankaracharya
. (4)  Buddha
(5) I 7 & ?rshvp___L (5) _Not attempted
AMRA/C4/Page 16 o wrd & TS ¥ | SPACE FOR ROUGH WoRK TS el

2
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82, Wiz uprsrsy g A @ T afta % F=par (82, Which art form derives its name from  th,
ey birthplace of the character Sita from the f;
@ e fag w am wg R Y amou;
- epic Ramayana ?
g
e (1) Gond
RLATI , O— 83. 1
et i v ' (2) Mandola
3 ; ¢
B i (3) Mithila
@ | (4) Vanshri
\5) I o | (5) Not attempted
(1 i § (¢
83w, s Y3 ()’ & For
T (5 83. ‘Mnharatnas’, ‘Navratnas' and ‘Miniratnas' are
oy classification of in India,
MWF‘WE&;@QWQ - (1) Public Sector Units
@ Riva or (2) Mineral Rich Arcas
@ ik co (3)  Special Economic Zones
P fl. (4)  Civilian Honours
‘ 2 (5)  Not attempted
. . (3)
mﬁ: (4]m*ﬁ!ﬁrm-qngﬁmm Wh 88
AT m : . at i r
320 (5) WA F1 1w orgnnjn:f' the . "m’mt . of the international
= : mnpe";r ion which fut:llllntes cross-border police
: 8. W ion to combat international crime 2
(2) e (1) INTERPOIL,
L. . (1)
(3)  Ivdhah ‘ (2)  POLCRyY
4 @ ) @ SAFETYCOM
(6) I 2 9 i
(5)  Not attempted
§5. URETZ R 7
o ' B3.  What is Anthracite 7
“"“‘W’““““‘ﬁ'ﬁmmmm () 1j - 89,
HEIR It is a form of coal which ig soft
moisturo content, Wwith high
(o1 T§ weivE TT arm T i @) Itia the highest quality i &
L) afrfres a3 Wl wef s 8 @ Itis the most popular : rd coq).
Co, i
X (4) TR v Fre A T 0 wren dm g = MMy
(4) Itis .
(5) I A T wEd @low grade brown coq),
(5) Not altempted

AMRA/CA/Page 18 o @ & 70 T 1 8PACE FoR ROUGH WORK \
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T WA w3 h g
Rl B

3 mbﬂmw“%lﬁ’ﬁmﬂ?
(1 30%
(2) 35% row,
(3) 40%\_~" the
,(BV'7 :9 area
T (n
(5) I A T =
(2
e 77 B 9E mﬁn L S
21" 200 fom [ a3 A T T | ¥
e 9 A W F e
gt Ee & 4 (5 1.
i 2:8
B8. Ame
M K-9

Y sells

Va»’“? 9 profi
4) 1:3 of su
(5) I T T it

(2)

& UF S F 9 50 @ & Faaw os wm aw
8% T W A= R @ & o A R ) EE
AR 33 14% 8% =™ W &<t mé

(5)
Ffom .
() 220 fm 89. ¥ 20,
@ ofem " O
rate ¢
13)
180 f&m m
4 300 fem s
B T 3 & amd

By 0#

2,000 wwgfy wra W 2 @9 7 T 22,2605

ﬁt.mmmﬁsmmaumﬂﬂ

88.
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86,

wht guml"- worth © 6,000 and sald half

A man bou
At what gain percent

of them at a gain of 10%.
must he sell the remainder 50 as 10 get a gain of

25% on the whole ?
30%
35%
40%
25%
Not attempted

(1
(2)
(3
4)
(5)

Three equal cubes, are placed adjacently in a
row. Then the ratio of the total surface arca of
the cuboid formed to the sum of the total surface
areas of the three cubes is :

{1y 2:8

(2) 5:9

@ 7:9

$ 1:3

(5) Not attempted

A merchant has 500 kg of sugar, part of which he
sells at 8% profit and the rest he sells at 18%
profit. He gains 14% on the whole. The quantity
of sugar sold at 8% is :

(1) 220kg

(2) 200kg

(3) 180 kg

(4) 300kg

(5) Not attempted
T 20,000 amounts to T 22 260:50 in 2 years it

compound interest, compounded annually. The
rate of interest is :

D 5o5e. (1 525%
U pag o @ 55%
L™ - @) 6%
Yoy ) 5%
1 ted
n ] mm?‘ﬂ‘ﬂﬁ (5) Not attemp )
.*E"P‘hm mmﬂthlleﬁm“w“"m“ F /137
‘.' 'So’ 2 :.”;-"—W" b e
G et = T B I
o M 355 "l Y -
. gbofx Il - 33e° 42 '2:)('7 -
b B * & - 3
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N . - be-ca=0 g A IJQII?: Ie %ramﬁrwpc;gl;%(jﬂn"

~ta=0,thena:y %

(L T3l:1
3 1:2:1
@ 2:1:1
4 1:1:2
(6) Not attempted

91. The two numbers nearest to 10,000 which are
exactly divisible by each of 2, 3, 4, 5. 6 and 7 are:

(1) 9520, 10080
(2) 9660, 10060
(3) 10080, 10340
“4)
(5)
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A, 5073 ) 0% wrafiefy wy W B
_ﬁﬁ- B30 mafafy @) g R I o e am k| i
1 #1007 ) g Frafefe 3 g RIc IR =
fF14 g2 &

gtﬁ. nfﬂaz?rqlfrwmmk"

4 6=
o 9 u? 4) €
B .
@ 9- W g
i
@ MER T \ge o
= busine
[
AT 2apo0 zaomn
® T 2 equally
in the
B = of then
"' T TrNe s
.‘z ,n N oy Ed || 95.
21
) ﬁnz\f @ o el arh
fmm-fwmmﬁm? @ T gaxi?
W T72007 sgoc B N &
LTI 4 7.400' < B.GOC . as
s Avepr  U°
¥ 7500, 8,500 . 404 kng.s 3

AT 27000,7 9,000 75 kmi* A

5 - destina \0
' ?ﬁnﬂ%:nm ’ 5‘/5 a0
(1 6K g
"% im0 @ 6k shw ww @

"Nnh?ﬁsmﬁﬁﬁwmmmwga%%
"ﬁmmf-ﬁﬁa" 8’

" "“2241?:'-:9’ ;}g

N % 30 i gl

L

.
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A tokes § hours 1o copy @ H0-page manuseript
nke

while B can copy

6 hours, How many I
copy n similar 100-page manuscript, if they work

the same manuscript i

yours would it tnke them g,

together ?

(1) 9 hours
E

(2) 92 hours
7

(3) 14 hours

[§]
(4) 6— hours
7

(5)  Not attempted

Two friends invested ¥ 30,000 and T 50,000 in a
business, They earned a profit of T 16,000 at the
end of the year. One half of the profit was divided
equally between them and other half was divided
in the ratio of their capitals. How much did each
of them receive ?

(1) ¥ 7,200, ¢ 8,800

(2) ¥ 7,400, T 8,600

(3) ¥ 7,500, T 8,500

(4) T 7,000, T 9,000 g

(6) Not attempted

An express train travelled at ap average speed of
100 km/h stopping for 3 minutes afier every
76 km. How long did j take 1o reach the

destination 600 km from (he starting point 7

(1) 6 hours 24 minutes
(2) 6 hours 27 minuteg
(3) 6 hours 30 minuteg
(4) 6 hours 21 minuteg
(5) Not attempted

4 7?@

hz <@ @rd & forg T4/ SPACE FORROUGHWORK

2 2=
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t__} :;gd 'V 7 @ .’V-—) %‘X’

Join Telegram Group "gradein"

(¥ scanned with OKEN Scanner




7. 'ﬁm:,@ﬂm,ilo‘“'

ﬂ"""""‘“‘“"‘
a
il) -6 q
{2) 143

—

4 123
(5) =W

©75° 4
T -
1 3 ..m
2 3 Q*’Q

s’

Join Tel
LR

Y
'n-)
1375

o 4 1) T A g R

sgra

(&)

" Hoy ]
I;pn?ur;rolhlilp x ilg {3;9 El!lnlhan another number y

and ¥ is 10% more than 125, then the value of x

140-55
143
150
12375

(6) Not attempted

The positive square root of
©75°
10756

2

+ 075+ (075)° + 1] is:

(1
(2) 3
3 4
4 1
Not attempted

B s
lﬁmun.léyom&nmdlﬂbnnwwkhutopthm
earned 2070 in a day. If the daily wages of &
man, a woman and a boy are in the ratio o

4':8:2.‘thednilywlﬂﬁn?]oflmln
2 women and 3 boys are :

m-
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